md—v =F
dt
N = kg m/s’
W = fscosf =f-s J =N m
K= 1 mv? J
2
1 1
Emvzz _Emvlz =W,,,
1
15
dt =0.001s ds=0.03m
t s v(t) =2t + 1 t=0
1
s(1) = jov(t)dt
dt =01 s s(1)
2
s(1) dt
(@) (b) (c) (d) (e) ® () (h)
MKS
f f S f
0 f W 2.10
m =10 kg s=1 f=my
g=9.8m/s
Y m K



v(01)=2x01+1=

1
s(1) = jov(t)dt
~ Vv(0)x 0.1+ v(0.2) x 0.1+ v(0.2) x 0.1+ v(0.3) x 0.1+ v(0.4) x 0.1
+Vv(0.5)x 0.1+ v(0.6) x 0.1+ v(0.7) x 0.1+ v(0.8) x 0.1+ v(0.9) x 0.1

m
a b c d. e f g h.
W=
W= J
K=
MKS
v =72 km/h = 72x Lkm = 72x 1000m = m/s
60x60s




